ASP-V/Economics/DSE-1A/20

B.A./B.Sc. 5th Semester (General) Examination 2019 (CBCS)

Subject : Economics
Paper : DSE-1A

(Basic Statistics)
Full Marks: 60

Time: 2 Hours

1. Answer any ren of the following questions:

19159

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

IR NEF FRIANSIT LA N [0 |
N1 rE IS [erd SIRIY Ces 70 203/

2x10=20

BT T @ ™ AT Tew wes

(a)

(b)

(c)

(d)

(e)

()

(g)

(h)

Show that simple A.M and weighted A.M are equal when all weight are equal.
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Mention any two disadvantages of A.M.
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From which diagram Modal value can be determined?
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State any two conditions for a good measure of central tendency.
@amm&ﬁwﬁﬁmﬂmmﬁmﬁam@m@%%@n
Define standard deviation and write down its’ formula for frequency distribution.
TS AL @ WS 9L ﬂ%ﬂ%ﬂn%@mamaamﬁsmmeI

Find the range from the following frequency distribution.

class limit: 10-15 15-20 20-25 25-30 30-40 40-50 50-60

frequency: 4 12 16 22 10 8 6
fresre Al feem @ o R @

cxifel rrs 10-15 1520 2025 2530  30.40 40-50  50-60
EESIE 4 12 16 22 10 8 6

Write down any two important properties of Standard Deviation.
o #Aea @ @ 9 wwgsd of Sm w)|

Write down any two uses of coefficient of variation,
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Distinguish between variable and

attribute.
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What is frequency polygon?
AP Fegs Mo
What is a pie chart?
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Mention two advantages of the metho

d of sample survey Over complete enumeration,
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Define quartile deviation.
vode Ryfew ket wis |
What is a frequency curve?
ARPRA! I e

(0) What are quartiles?
SREIEE
2. Answer any four of the following questions: 5x4=20
NI @ (e BIFIG A Ted WS
(a) (i) Draw a suitable diagram from the following data:
Export of food grain from India to six countries.
Country: Bangladesh France Srilanka  UAE Canada USA
Export (in
000 crore rupee): 78 112 56 92 82 30
e o ¢ 93 TYS EROET AR TP F@
SIS (P W (0T AT A2
e Bangladesh France Srilanka UAE Canada USA
Bl
(ooo (@I TR 78 112 56 92 82 30
(i) What is the main difference between Histogram and Vertical bar diagram?
4+1=5
SO 8 T %9 e Wy @ ey e
X;—c
B @ B 5=— li=12,., &
b © 7 ( ") where ¢ and d are constant then prove that x=c+d -
qﬁ Vi :M i=1,2,..
y a (=12n) 8 @A ¢ @ d s, o T @ Focrd T |
(i1) A man walks 12 miles at 4 m.

P-h and again 10 miles at 5 m.p.h. What was the avarage

speed? >
2V+2Y2=0
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(¢) (i) If x; and x, are two positive values of a variate, prove that their geometric mean
is equal to the geometric mean of their arithmetic mean and harmonic mean.
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(ii) Write down the relationship between A.M, G.M and H.M. 4+1=5
AM, GM € HM. &3 St F$0 &Tedl|

(d) Derive the mean and standard deviation of Ist n natural numbers. 5
AN ;1 A FOIRE AAF 18 8 TG Ay [efa Fea |

(e) (i) What do you mean by graphical presentation of data?
SR ETRbars AR IeT0e @RI

(i) Mention two advantages and two disadvantages of graphical presentation of data over
tabular presentation. 1+4=5
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(f) What do you understand by dispersion? What are the different measures of dispersion?
2+43=5
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3. Answer any two of the following questions: 10x2=20
NI @ & 75 AT TR @R

(a) (1) Find the missing frequency in the following frequency distribution when it is known

that AM=11-09.
class limit: 9-3-9-7 9-8-10-2 10-3-10-7 10-8-11-2 11-3—-11-7 11-8-12-2 12-3-12-7 12-8—13-2 Total
frequency: 2 ) ) £, 14 6 3 1 =60
e (i AR [Keten 2w e aem «ifera ot @3 3@, 999 390 siE
AM=11-091
cafet Sisve 9-3-9-7 9-8-10-2 10-3-10-7 10-8-11-2 11-3-11-7 11-8-12-2 12-3—12-7 12-8-13-2 Total
ifel AAfeEicagte 2 5 £, £, 14 6 3 1 =60
(i1) Write down the relation between mean median and mode. 8+2=10
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(b) (i) Derive the median diagramatically from the following frequency distribution.

class boundary: 15-25 25-35 35-45 45-55 55-65 65-75

class frequency: 4 11 19 14 0 2
e (fdem AR Retem i s Ww [T @ Braa i

ifd St 15-25  25-35 3545  45-55 55-65 65-75
i sifeIzans 4 11 19 14 0 2
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(i) Verify your result by applying simple interpolation method.
o e o e S AR A S IGR P
(¢) (i) What do you mean by ‘Histogram’?
ROV e F @RI?

(ii) Draw the histogram and frequency polygon for the following data.

fefiRe syehi oy <3t REsla ¢ 3t ARl @gs S |
Marks: 26-35 | 36-45 |46-55 | 56-65 | 66-75 | 76-85 | 86-95
Frequency:| 3 15 56 21 12 6 2

(d) (1) Calculate AM, median and mode of the following distribution:
fafRe Rew @@ e g, v R g Fd Tt

%: 6 7 8 9
1% 2 2 5 1

(i) What do you mean by Harmonic mean?
RS A 1w oo N @@= e
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8+2=10

2+(5+3)=10

8+2=10



